PKCE?% Bzt iRimiEsk

W SMNERIE (mm)

Prneulead’

PKCHELB L o
ERSNE | me ) L M1 M2
[ ®4 | PKCHO4-00 | 104 | 421 18 16
S re%e ] of | ©6 | PKCH06-00 | 128 | 458 19 17
®8 | PKCH08-00 | 152 | 528 | 215 185
w | | _w ©10 | PKCH10-00 | 185 | 598 24 21
L ®12 | PKCH12-00 | 209 | 635 | 255 22
PKCIEEBERZ:X
BEOME me | od | oD L A M
mm
®4 | PKCI04-99| 4 98 | 495 | 335 | 18
©6 | PKCI06-99| 6 | 118 | 54 37 19
®8 | PKCI08-99| 8 14 61 | 425 | 215
s ®10 | PKCJ10-99] 10 17 | 704 | 494 | 24
L ®12 | PKCJ12-99] 12 19 | 744 | 524 | 255
= 37 Q)|
PKCERR#RIZk
PR /2 . 4 =
BERE  [empal T [ H iR
mm | =5 |sempmws | zen| M| M2
= ®4 |PKCEO4-00[M12X1] 14 | 42 | 13 | 18 | 16
S AV ®6 |PKCE06-00[M14X1| 17 | 455 | 15 | 19 | 17
mgl ®8 |PKCE08-00[M16X1] 19 | 525 | 17 | 215 | 185
H T ®10 |PKCEL0-00]M20X1| 24 | 595 | 21 | 24 | 21
v, v, ®12 |PKCE12-00|M22X1] 27 | 632 | 23 | 255 | 22
L
PKCER SR8 PRt #% 5k
&R H1 | H2 _
=i S T =
Ll ME | BS B |y AR | AR L L2 iﬁ“jj’; M
mm X4ih | x4i8 =
“op=en | 04 | PKCEO4-02 ReI/AM12X1[ 17 | 14 [40.5|14.7] 13 | 18
Tt | ©6 |PKCEO6-02[Rel/aM14axa| 17 | 17 |42.7]14.7] 15 | 19
. ®8 | PKCE08-03 [Rc3/8[M16X1] 19 | 19 [49.4] 15 | 17 | 215
- N ®10 | PKCE10-03 [Rc3/8[M20X1[ 22 | 24 [53.9]14.2] 21 | 24
— ®12 | PKCE12-03 [Rc3/8[M22X1| 24 | 27 |56.113.7] 23 | 255
PKCRIGE &k
BRME | me | ed| oD L A M
ST 1mzmr|g ®4 | PKCRO4-99 | 4 | 98 | 406 | 22.6 16
=] ®6 | PKCRO6-99 | 6 | 118 | 431 | 241 | 17
M ®8 | PKCR08-99 | 8 | 14 | 467 | 252 | 185
A ®10 | PKCR10-99 | 10 | 17 | 526 | 286 | 21
L ®12 | PKCR12-99 | 12 | 19 | 849 | 294 | 22

5-38





